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https://www.100test.com/kao_ti2020/644/2021 2022 E6 80 9D
E7 A7 91CCNA c101 _644730.ntm A: Connecting a host to the
old switch has created a broadcast storm.B: The 10BASE-T switch
forced the entire network to be reduced to 10 Mbps operation.C:
The old switch does not support VLANS, which has disabled the
VLAN configuration of the entire the network.D: The old switch
does not support full-duplex operation, effectively forcing
half-duplex operation throughout the network.E: Spanning Tree
Protocol has elected the old switch as the root bridge, creating
inefficient data paths through the switched network.Correct
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